RECREATION				Dot Designing LLC 242 Possum Hollow Rd, Monroe Twp., NJ 08831		
#	Description	Size	Est. Qty.	Unit Price	Extended Price	
1A	T-Shirt: Best or Fruit of the Loom Brand and/or equal 50% cotton 50% polyester. Sample T-Shirt to be sent with Bid. List all colors available (minimum 16). Lettering approximately two to three inches high on front only.	Youth	2,500	\$3.10	\$7,750.00	
	Lettering and insignias to be done in silk screen process. Letters and numbers in white or black.	Adult	5,000	\$3.20	\$16,000.00	
1B	T-Shirt: Price for 8 inch number on back. (Cost for number only per shirt.)	-	5,000	\$0.80	\$4,000.00	
1C	T-Shirt: Repeat Screen Set-Up charge Explanation: If the Township needs to produce less than the minimum order of 12 T-Shirts in a separate order, what is the screen set-up charge, if any?	-	1	\$0.00	\$0.00	
1D	T-Shirt: Cost for under minimum order Explanation: If the Township needs to produce less than the minimum order of	Youth	1	\$3.75	\$3.75	
	12 T-Shirts in a separate order, what is the cost per T-Shirt, as per Item 1A	Adult	1	\$3.75	\$3.75	
1E	T-Shirt Order to be separated by Division and Teams, and labeled on box, which		2,500	\$0.00	\$0.00	
	will be packaged by supplier as directed by this office.	Adult	5,000	\$0.00	\$0.00	
	Yale brand or equal reversible 100% poly mesh soccer jersey (Screened on both fronts, #s on both backs) 1/2 in fall, 1/2 in spring	Youth	150	\$10.60	\$1,590.00	
2		Adult	500	\$10.60	\$5,300.00	
		XXL	10	\$11.60	\$116.00	
		Youth	750	\$9.25	\$6,937.50	
3		Adult	850	\$9.50	\$8,075.00	
J		XXL	10	\$10.60	\$106.00	
		XXXL	10	\$10.60	\$106.00	
		Adult	48	\$7.00	\$336.00	
4	Sport-Tek Competitor Colorblock Performance T-shirt (Screened on left chest)	XXL	2	\$8.00	\$16.00	
		XXXL	2	\$8.60	\$17.20	
	Jerzee brand or equal 50/50 heavyweight preshrunk t-shirts (3-color full screen	Adult	20		\$79.00	
5	on front)	XXL	10		\$59.50	
	,	XXXL	10	\$6.95	\$69.50	
	Collared Golf Shirt (No Pocket) - Anvil Brand or Equal 50/50 style with	Adult	300	\$7.50	\$2,250.00	
6	screening process	XXL	20	\$8.70	\$174.00	
		XXXL	20	\$10.00	\$200.00	
	Long Sleave T Shirt Anvil Prend or Equal Prechrunk 00% cotton 10%	Adult	30	\$7.25	\$217.50	
7	Long Sleeve T-Shirt – Anvil Brand or Equal – Preshrunk 90% cotton - 10% polyester plus screening.	XXL	10	\$9.00	\$90.00	
		XXXL	10	\$10.00	\$100.00	
	Sweatshirts – Jerzees Brand or equal – 50/50 with screening	Adult	30	\$8.00	\$240.00	
8		XXL	10	\$10.00	\$100.00	
		XXXL	10	\$11.80	\$118.00	
	Sleeveless Gilden Brand or equal – Preshrunk 90% cotton - 10% polyester plus screening	Adult	20	\$6.20	\$124.00	
9		XXL	10	\$7.20	\$72.00	
		XXXL	10	\$7.20	\$72.00	
	C-11	Adult	40	\$7.25	\$290.00	
10	Collared Gilden Brand or equal – Preshrunk 50% cotton - 50% polyester plus	XXL	10	\$8.50	\$85.00	
	screening	XXXL	10	\$9.60	\$96.00	

Razorback Best Brand or equal (tank) - 50/50, Sereen on Front Heart   XXL   10   \$7.25   \$72.50   \$7		11p111 0, 2010, 10000 11111				
Port Authority - Long Sleeve Value Poplin Shirt S632 Color: Royal or Equal, secreted			Adult	20	\$6.25	\$125.00
Port Authority - Long Sleeve Value Poplin Shirt S632 Color: Royal or Equal,   Status   1   \$13.00	11	Razorback Best Brand or equal (tank) – 50/50, Screen on Front Heart	XXL	10	\$7.25	\$72.50
12   Port Authority — Long Sleeve Value Poplin Shirt S632 Color: Royal or Equal,			XXXL	10	\$7.25	\$72.50
12   Port Authority — Long Sleeve Value Poplin Shirt S632 Color: Royal or Equal,			Adult	20	\$12.00	\$240.00
Screened   XXXL   1   \$14.00   \$14.00   \$15.00   \$320.00   XXL   10   \$15.00   \$17.00   \$170.0	12			1		
Sport-Tek brand or equal, light weight 100% poly windbreaker (apparel only)   XXL   10   \$17.00   \$170.0		screened		1		
Sport-Tek brand or equal, light weight 100% poly windbreaker (apparel only)   XXL   10   \$17.00   \$18.00   \$18.00   \$20.00   \$2				20		
13		Sport Tak brond or equal light weight 100% noty windbrooker (apperal only)				
Screen front left chest   per   40   \$0.50   \$20.00	12	Sport-1ek brand of equal, fight weight 100% pory windofeaker (apparer only)				
Screen on back   Per   40   \$0.50   \$20.00	13	C f f				
Nike brand or equal, dri-fit golf polo 100% poly (apparel only)   XXL   10   \$28.00   \$280.00			1			
Nike brand or equal, dri-fit golf polo 100% poly (apparel only)		Screen on back				
Mem's Style 203690   Screen front left chest   per   40   \$0.65   \$26.00						
Screen front left chest						
Screen on back   Per   40   \$0.65   \$26.00	14M	·				
Nike brand or equal, dri-fit golf polo 100% poly (apparel only)		Screen front left chest	per	40	\$0.65	\$26.00
Nike brand or equal, dri-fit golf polo 100% poly (apparel only)		Screen on back	per	40	\$0.65	\$26.00
14W   Women's Style 203697   Screen front left chest   Screen on back			Adult	20	\$27.00	\$540.00
Screen front left chest   per   40   \$0.65   \$26.00		Nike brand or equal, dri-fit golf polo 100% poly (apparel only)	XXL	10	\$28.00	\$280.00
Screen on back   Per   40   \$0.65   \$26.00   \$520.00	14W	Women's Style 203697	XXXL	10	\$30.00	\$300.00
Sport-Tek brand or equal, 12oz superheavyweight full zipper hooded sweatshirt,   XXL   10   \$27.00   \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$270.00     \$280.00   \$280.00     \$		Screen front left chest	per	40	\$0.65	\$26.00
Sport-Tek brand or equal, 12oz superheavyweight full zipper hooded sweatshirt,   XXL   10   \$27.00   \$270.00		Screen on back	per	40	\$0.65	\$26.00
Sport-Tek brand or equal, 12oz superheavyweight full zipper hooded sweatshirt,   XXL   10   \$27.00   \$270.00			Adult	20	\$26.00	\$520.00
Solution   Screen front left chest   Screen on back   Per   40   \$0.30   \$12.00		Sport-Tek brand or equal, 12oz superheavyweight full zipper hooded sweatshirt.	XXL	10		
Screen front left chest Screen on back Screen on ba	15					
Screen on back per 40 \$0.35 \$14.00  16S Port & Company brand LPC-54V or equal 5.4 oz 100% cotton V-neck T-shirt, screened  16E Port & Company brand LPC-54V or equal 5.4 oz 100% cotton V-neck T-shirt, embroidered  17S Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, screened  17E Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, screened  17E Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, embroidered  18E Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, embroidered  18E OPAT Authority brand L800 or equal EZ cotton Pique Polo, screened  19S Port Authority brand L800 or equal EZ cotton Pique Polo, embroidered  20 Reversible Pinnies — Youth and adult sizes, printed on both sides, No Numbers, Lacrosse  21 Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen.  22 Champion brand Style CW22 or equal double dry short sleeve performance shirt front screen.  23 Sport -Tek brand L800 or equal double dry short sleeve performance shirt front screen.  24 Standard 12 Standard 12 Standard 12 Standard 12 Standard 12 Standard 13 Standard 14 Standard 12 Standard 14 Standard 15 Standard 1		1 1 11				
16S   Sercened   Port & Company brand LPC-54V or equal 5.4 oz 100% cotton V-neck T-shirt, screened   Adult   12   \$5.00   \$60.00     16E   Port & Company brand LPC-54V or equal 5.4 oz 100% cotton V-neck T-shirt, embroidered   Adult   12   \$8.00   \$96.00     17S   Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, screened   Adult   12   \$16.00   \$192.00     17E   Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, screened   Adult   12   \$18.00   \$216.00     18S   Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, screened   Adult   12   \$10.00   \$120.00     18E   Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, embroidered   Adult   12   \$10.00   \$120.00     19S   Port Authority brand L800 or equal EZ cotton Pique Polo, screened   Adult   12   \$12.00   \$144.00     19E   Port Authority brand L800 or equal EZ cotton Pique Polo, embroidered   Adult   12   \$13.00   \$156.00     20   Reversible Pinnies - Youth and adult sizes, printed on both sides, No Numbers, Lacrosse   Youth/Adult   75   \$9.00   \$675.00     21   Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen.   Youth/Adult   70   \$9.00   \$630.00     22   Champion brand Style CW22 or equal double dry short sleeve performance shirt front screen   Youth/Adult   70   \$7.90   \$553.00     22   Shirt front screen   Youth/Adult   70   \$7.90   \$553.00     23   Youth/Adult   70   \$7.90   \$553.00     24   Youth/Adult   70   \$7.90   \$553.00     25   Youth/Adult   70   \$7.90   \$553.00     25   Youth/Adult   70   \$7.90   \$553.00     Youth/Adult   70   \$7.90   \$553.00     25   Youth/Adult   \$7.00   \$7.90			1			
Secreened   Adult   12   \$35.00   \$60.00			1			
Port & Company brand LPC-54V or equal 5.4 oz 100% cotton V-neck T-shirt, embroidered   Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, screened   Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, screened   Adult   12   \$16.00   \$192.00     17E   Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, embroidered   Adult   12   \$18.00   \$216.00     18S   Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, screened   Adult   12   \$7.00   \$84.00     18E   Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, embroidered   Adult   12   \$10.00   \$120.00     19S   Port Authority brand L800 or equal EZ cotton Pique Polo, screened   Adult   12   \$12.00   \$144.00     19E   Port Authority brand L800 or equal EZ cotton Pique Polo, embroidered   Adult   12   \$13.00   \$156.00     20   Reversible Pinnies – Youth and adult sizes, printed on both sides, No Numbers, Lacrosse   Youth   75   \$9.00   \$675.00     21   Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen   Youth   70   \$9.00   \$630.00     22   Champion brand Style CW22 or equal double dry short sleeve performance   Youth   70   \$7.90   \$553.00     22   Champion brand Style CW22 or equal double dry short sleeve performance   Youth   70   \$7.90   \$553.00     23   Style front screen   Youth   70   \$7.90   \$553.00	16S		Adult	12	\$5.00	\$60.00
Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, screened   Adult   12   \$16.00   \$192.00	16E	Port & Company brand LPC-54V or equal 5.4 oz 100% cotton V-neck T-shirt,	Adult	12	\$8.00	\$96.00
Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded jacket, embroidered   Adult   12   \$18.00   \$216.00	17S	Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded	Adult	12	\$16.00	\$192.00
Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, screened  Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, embroidered  Adult 12 \$10.00 \$120.00	17E	Sport -Tek brand LST-238 or equal Ladies sport-wick fleece full-zip hooded	Adult	12	\$18.00	\$216.00
Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts, embroidered  19S Port Authority brand L800 or equal EZ cotton Pique Polo, screened  19E Port Authority brand L800 or equal EZ cotton Pique Polo, embroidered  20 Reversible Pinnies – Youth and adult sizes, printed on both sides, No Numbers, Lacrosse  21 Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen.  22 Champion brand Style CW22 or equal double dry short sleeve performance shirt front screen.  310.00 \$120.00 \$120.00 \$144.00 \$120.00 \$144.00 \$120.00 \$144.00 \$120.00 \$144.00 \$120.00 \$144.00 \$120.00 \$144.00 \$120.00 \$144.00 \$120.00 \$120.00 \$144.00 \$120.00 \$120.00 \$144.00 \$120.00 \$	18S	Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts,	Adult	12	\$7.00	\$84.00
Port Authority brand L800 or equal EZ cotton Pique Polo, screened  Adult 12 \$12.00 \$144.00  Port Authority brand L800 or equal EZ cotton Pique Polo, embroidered  Adult 12 \$13.00 \$156.00  Reversible Pinnies – Youth and adult sizes, printed on both sides, No Numbers, Lacrosse  Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen.  Champion brand Style CW22 or equal double dry short sleeve performance shirt front screen.  Champion brand Style CW22 or equal double dry short sleeve performance shirt front screen.  Youth/ Adult 70 \$9.00 \$630.00  Youth/ Adult 70 \$7.90 \$553.00	18E	Gilden brand 8400 or equal dryblend 50/50 cotton/poly long sleeve t-shirts,	Adult	12	\$10.00	\$120.00
Port Authority brand L800 or equal EZ cotton Pique Polo, embroidered  Adult 12 \$13.00 \$156.00  Reversible Pinnies – Youth and adult sizes, printed on both sides, No Numbers, Lacrosse	19S		Adult	12	\$12.00	\$144.00
Reversible Pinnies – Youth and adult sizes, printed on both sides, No Numbers, Lacrosse  Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen.  Champion brand Style CW22 or equal double dry short sleeve performance  Shirt, front screen.  Youth/ Adult Youth/ Adult 70 \$9.00 \$675.00  Youth/ Adult 70 \$9.00 \$630.00  \$10.25  Youth/ Adult 70 \$7.90 \$553.00		* * *				
No Numbers, Lacrosse  XXL 1 \$9.50 \$9.50  Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen.  Champion brand Style CW22 or equal double dry short sleeve performance shirt, front screen.  Youth/Adult 70 \$9.00 \$630.00  Youth/XXL 1 \$10.25 \$10.25  Youth/Adult 70 \$7.90 \$553.00		Reversible Pinnies – Youth and adult sizes, printed on both sides,	I I			
Champion brand Style CW26 or equal double dry interlock long sleeve performance shirt, front screen.  Champion brand Style CW26 or equal double dry interlock long sleeve Adult  XXL 1 \$10.25 \$10.25  Champion brand Style CW22 or equal double dry short sleeve performance shirt, front screen.  Youth/Adult  Youth/Adult  70 \$7.90 \$553.00	-	No Numbers, Lacrosse	<del></del>	1	\$9.50	\$9.50
performance shirt, front screen.  XXL 1 \$10.25 \$10.25  Champion brand Style CW22 or equal double dry short sleeve performance shirt, front screen.  Youth/Adult 70 \$7.90 \$553.00	21		Youth/	70		
Champion brand Style CW22 or equal double dry short sleeve performance shirt front screen  Youth/ Adult 70 \$7.90 \$553.00		performance shirt, front screen.		1	\$10.25	\$10.25
Ishirt tront screen	22		Youth/	70		
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		shirt, front screen.	XXL	1	\$8.90	\$8.90

	April 5, 2016, 10:00 AM				
23	Champion brand Style 8731 or equal long polyester performance shorts, front	Youth/ Adult	75	\$8.00	\$600.00
	screen on left leg.	XXL	1	\$9.00	\$9.00
24	Champion brand Style S220 or equal 5.4 oz 100% poly performance hooded	Youth/ Adult	75	\$20.00	\$1,500.00
	sweatshirt, Two sided screen.	XXL	1	\$21.00	\$21.00
25	Champion brand Style P900 or equal 100% poly performance fleece pants, one	Youth/ Adult	75	\$14.00	\$1,050.00
	leg screen.	XXXL	1	\$15.00	\$15.00
	Prosphere 'Counter Attack' Matman Sublimated Singlets or equal, Screened on	Youth/ Adult	12	\$80.00	\$960.00 *
26	back.	XXL	1	\$80.00	\$80.00
		XXXL	1	\$80.00	\$80.00
		Youth/ Adult	12	\$35.00	\$420.00
27	Matman Stock Singlets (#81, #83) or equal, Screened on back.	XXL	1	\$35.00	\$35.00
		XXXL	1	\$35.00	\$35.00
		RECREA	TION S	UBTOTAL	\$67,240.35 *
MAI	RLBORO SWIM CLUB			Dot Designir	ng LLC
/[A]	RLBORO SWIM CLUB  Description	Туре	Est.	Unit	ng LLC  Extended Price
#	Description  Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front	Youth	Est. Qty.	Unit Price	Extended Price
# 28 29	Description  Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF	Youth (M,L,XL)	Est. Qty. 500	Unit Price \$4.00	Extended Price \$2,000.00
# 28 29 30	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)	Est. Qty. 500	Unit Price \$4.00 \$4.00	\$2,000.00 \$2,000.00
# 28 29 30 31	Description  Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)	Est. Qty. 500 500 720	Unit Price \$4.00 \$4.00 \$5.00	\$2,000.00 \$2,000.00 \$3,600.00
# 28 29 30 31	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)	Est. Qty. 500 500 720 800	Unit Price \$4.00 \$4.00 \$5.00 \$4.50	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00
# 28 29 30 31	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or equal style with	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)	Est. Qty. 500 500 720 800 48	Unit Price \$4.00 \$4.00 \$5.00 \$4.50 \$4.25	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00 \$204.00
# 28 29 30 31	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)	Est. Qty. 500 500 720 800 48	Unit Price \$4.00 \$4.00 \$5.00 \$4.50 \$4.25 \$9.70	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00 \$204.00 \$582.00
# 28 29 30 31	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or equal style with embroidery on left and right side	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  XXL  XXXL  Adunt	Est. Qty. 500 500 720 800 48	Unit Price \$4.00 \$4.00 \$5.00 \$4.50 \$4.25 \$9.70 \$10.70	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00 \$204.00 \$582.00 \$10.70
# 28 29 60 61 62	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or equal style with embroidery on left and right side  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or Equal with screening	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  XXL  XXXL	Est. Qty. 500 500 720 800 48 60 1	Unit Price \$4.00 \$4.00 \$5.00 \$4.50 \$9.70 \$10.70 \$11.70	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00 \$204.00 \$582.00 \$10.70 \$11.70
# 28 29 30 31 32	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or equal style with embroidery on left and right side	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  Adult (S,M,L,XL)  XXL  XXXL  XXXL  Adunt (S,M,L,VL)  XXL	Est. Qty. 500 500 720 800 48 60 1	Unit Price \$4.00 \$4.00 \$5.00 \$4.50 \$9.70 \$10.70 \$7.50 \$9.00	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00 \$204.00 \$582.00 \$10.70 \$11.70 \$540.00 \$9.00
# 28 29 30 31 32 33 34	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or equal style with embroidery on left and right side  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or Equal with screening	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)	Est. Qty. 500 500 720 800 48 60 1 72 1	Unit Price \$4.00 \$4.00 \$5.00 \$4.50 \$4.25 \$9.70 \$11.70 \$7.50	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00 \$204.00 \$582.00 \$10.70 \$11.70 \$540.00
#	Tank top WHITE child's shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top WHITE adult shirt ANVIL/AUGUSTA with printed emblem on front shirt. EMBLEM = multi color (5)  Tank top BLUE ADULT shirt ANVIL/AUGUSTA with printed LETTERS on front shirt. PRINT = STAFF  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard emblem on front/back. EMBLEM = 2 color  Tank top WHITE ADULT shirt ANVIL/AUGUSTA with printed lifeguard/EMT emblem on front/back. EMBLEM = 2 color  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or equal style with embroidery on left and right side  Collared Golf Shirt (No Pocket) – Anvil Brand #5002 or Equal with screening process	Youth (M,L,XL)  Adult (S,M)  Adult (S,M,L,XL)  XXL  XXXL  XXXL  XXXL  XXXL  XXXL	Est. Qty. 500 500 720 800 48 60 1 1 72 1	Unit Price \$4.00 \$4.00 \$5.00 \$4.50 \$4.25 \$9.70 \$11.70 \$7.50 \$9.00 \$10.00	\$2,000.00 \$2,000.00 \$3,600.00 \$3,600.00 \$3,600.00 \$204.00 \$582.00 \$10.70 \$11.70 \$540.00 \$9.00 \$10.00

	14pin 3, 2010, 10.00 11.				
	Breathable Rain Jacket - dark grey, white embroidery on right breast " MSC	Adult (S,M,L,XL)	70	\$36.00	\$2,520.00
37	STAFF" size 2" x 2" Calibri font or similar	XXL	5	\$36.00	\$180.00
		XXXL	1	\$37.00	\$37.00
38	"Boonie" style Bucket Hat - 50% polyester/50% cotton, dark grey, white embroidery across from "MSC STAFF" size 2"x2" Calibri font or similar	Adult	76	\$13.50	\$1,026.00
39	Visor - 50% polyester/50% cotton, dark grey, white embroidery across from "MSC STAFF" size 2"x2" Calibri font or similar	Adult	76	\$6.10	\$463.60
		SWIM	CLUB S	UBTOTAL	\$21,042.00 *
PRE	VENTION OF DRUG AND ALCOHOL ALLIANCE			Dot Designii	ng LLC
	VERTICAL OF BROOMER PROGRAMMENT CE	T	Est.	Unit	
#	Description	Type	Qty.	Price	Extended Price
40	T-Shirt: Blue with one color imprint on front, one color imprint on back, and two color imprint on sleeve (RAD)	Adult (S,M,L,XL)	75	\$5.00	\$375.00
41	T-Shirt: Maroon with one color imprint on front, one color imprint on back, and two color imprint on sleeve (RAD)	Adult (S,M,L,XL)	75	\$5.00	\$375.00
42	T-Shirt: Black with two color imprint on front, one color imprint on back, two colors on sleeve (P2P)	Adult (S.M.L.XL)	100	\$5.50	\$550.00
43	T-Shirt: Blue with one color imprint on front, 2 color imprint on sleeve (CM-MM)	Adult (S,M,L,XL)	50	\$5.00	\$250.00
44	T-Shirt: Maroon with one color imprint on front, 2 color imprint on sleeve (CM-MMM)	Adult (S,M,L,XL)	50	\$4.80	\$240.00
		ALLI.	ANCE S	UBTOTAL	\$1,790.00
	N ADVISORY COMMITTEE	Im.		Dot Designii	ŭ
#	Description	Type	Est.	Unit	Extended Price
	T-Shirt: White, Jerzees Heavy Weight Blend 50% cotton, 50% polyester, short	Adult (S,M,L,XL)	400	\$3.60	\$1,440.00
45	sleeve tee with 2 color royal blue/golden yellow across full front	XXL	5	\$3.60	\$18.00
		XXXL	5	\$3.60	\$18.00
	TEEN ADVISO	ORY COMMI	TTEE S	UBTOTAL	\$1,476.00
GRF	EEN TEAM			Dot Designii	ng LLC
		Truns	ID4		ŭ .
#	Description	Type	Est.	Unit	Extended Price
	T-Shirt: Ice gray (or similar NOT heather gray), Gildan or equivalent 6oz pre-	Adult (S,M,L,XL)	30	\$3.70	\$111.00
46	shrunk 100% cotton short sleeve tee, ice gray (or similar NOT heather gray) with 1 color print dark green across full front	XXL	5	\$4.70	\$23.50
		XXXL	5	\$5.70	\$28.50
				SUBTOTAL	\$163.00
SHA	DE TREE COMMITTEE			Dot Designii	ng LLC
#	Description	Туре	Est.	Unit	Extended Price
#	լույու ihnan	Liphe	Δ	D	Extended Frice

	April 5, 2016, 10:00 AM	L			
4.7	T-Shirt: Dark Green, Jerzees Heavy Weight Blend 50% cotton, 50% polyester,	Adult (S,M,L,XL)	30	\$3.70	\$111.00
47	short sleeve tee with 1 color print, white logo - left chest (pocket area)	XXL	5	\$4.70	\$23.50
		XXXL	5	\$5.70	\$28.50
	SHADE T	REE COMMI	TTEE S	UBTOTAL	\$163.00
YOU	TH EXCHANGE COMMITTEE			Dot Designii	ng LLC
#	Description	Туре	Est. Qty.	Unit Price	Extended Price
	T-Shirt: White, Jerzees Heavy Weight Blend 50% cotton, 50% polyester, short	Adult (S,M,L,XL)	65	\$5.10	\$331.50
48	sleeve tee with 3 color print, roayl blue, red, and black across full front	XXL	5	\$7.10	\$35.50
		XXXL	5	\$8.10	\$40.50
	YO	UTH EXCHA	NGE CO	OMMITTEE	\$407.50
X /ID/ID	ANG A MOLLINGERED			D . D	IIG
VET	ERANS & VOLUNTEERS	1		Dot Designii	ng LLC
#	Description	Туре	Est. Qty.	Unit Price	Extended Price
	T Shirt: Nava Plus Jarzaes Heavy Waight Pland 50% gotton 50% polyector	Adult (S,M,L,XL)	20	\$4.90	\$98.00
49	T-Shirt: Navy Blue, Jerzees Heavy Weight Blend 50% cotton, 50% polyester, short sleeve tee with 2 color print, white and red logo - left chest (pocket area)	XXL	5	\$6.50	\$32.50
		XXXL	5	\$6.80	\$34.00
50	Collared Golf Shirt (No Pocket) - moisture wicking material - navy blue short	Adult (S M L XL)	20	\$14.00	\$280.00
50	sleeve, 2 color print, white and red logo - left chest (pocket area)	XXL	5	\$15.00	\$75.00
		XXXL	5	\$16.00	\$80.00
		VETERAN	S & VO	LUNTEERS	\$599.50
VEH	IICLE MAINTENANCE	1		Dot Designii	ng LLC
#	Description	Туре	Est. Qty.	Unit Price	Extended Price
		Adult (S,M,L,XL)	35	\$7.10	\$248.50
	T-Shirt: Black, short sleeve pocket tee with 1 color white lettering "Marlboro Township" above left breast - Must be made 100% cotton or similar fire retardant cotton fabric to meet OSHA Standards	XXL	7	\$8.10	\$56.70
51		XXXL	7	\$9.10	\$63.70
		XXXXL	5	\$9.10	\$45.50
		Adult (S,M,L,XL)	35	\$9.10	\$318.50 *

	T-Shirt: Black, long sleeve pocket tee with 1 color white lettering "Marlboro	37377		<b>#11.00</b>	Φ77.00
52	Township" above left breast - Must be made 100% cotton or similar fire retardant cotton fabric to meet OSHA Standards	XXL	7	\$11.00	\$77.00
		XXXL	7	\$12.00	\$84.00
		XXXXL	5	\$12.00	\$60.00
	VEHICLE	E MAINTEN	ANCE S	UBTOTAL	\$953.90
POL	ICE DEPARTMENT			Dot Designir	ng LLC
#	Description	Туре	Est. Qty.	Unit Price	Extended Price
53A	T-Shirt: Best or Fruit of the Loom Brand and/or equal 50% cotton 50% polyester. Sample T-Shirt to be sent with Bid. Navy Blue Shirts. Lettering approximately two to three inches high on front only. Lettering and insignias to be done in silk screen process. Letters and numbers in silver.	Adult (S,M,L,XL)	120	\$3.95	\$474.00
53B	T-Shirt: Price for 3 inch Last Names in bold capital letters centered in silver ink, on back. (Cost for per shirt.)	-	120	\$0.80	\$96.00
- 1	Sport-Tek Competitor Colorblock Performance T-shirt (Screened on left chest) -	Adult	30	\$6.50	\$195.00
54	Grey Shirt with Black Logo	XXL	2	\$7.20	\$14.40
55	Collared Golf Shirt (No Pocket) - Anvil Brand or Equal 50/50 style with	Adult	30	\$7.50	\$225.00
	screening process. Grey Shirt with Black Logo	XXL E DEPARTN	JENT S	\$8.50	\$42.50 \$1,046.90
	TOLK	L DLI AKTI	VILIVI S	OBTOTAL	\$1,040.90
MAI	RLBORO FARMER'S MARKET			L	
#	Description	Туре	Est. Qty.	Unit Price	Extended Price
56	T-shirt Gildan or equivalent 5.2-6oz pre-shrunk 100% cotton short sleeve tee (sand/tan tee) with 1 color print (dark green print) left pocket location	Adult (S,M,L,XL)	30	\$3.70	\$111.00
		XXL	5	\$4.70	\$23.50
	MARLBORO FAI	RMER'S MAI	DVETQ		
COL		THE THE	KKE1 S	OBIOTAL	\$134.50
	JNCIL.		KKL1 3	OBIOIAL	\$134.50
#	JNCIL Description	Туре	Est.	Unit Price	\$134.50  Extended Price
	Year Round Embroidered Jacket - 88/12 polyester/elastane lightweight jacket, navy blue, water-repellent and breathable, a - Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering, See			Unit	
57	Year Round Embroidered Jacket - 88/12 polyester/elastane lightweight jacket, navy blue, water-repellent and breathable, a - Embroidery on left chest,	Type Women's Adult	Est. Qty.	Unit Price	Extended Price
	Year Round Embroidered Jacket - 88/12 polyester/elastane lightweight jacket, navy blue, water-repellent and breathable, a - Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering, See Website Homepage for sample image), followed by first line title, second line	Type  Women's Adult (S,M,L,XL)  Men's Adult (S,M,L,XL)  XXL	Est. Qty.	Unit Price \$36.00	Extended Price \$180.00
	Year Round Embroidered Jacket - 88/12 polyester/elastane lightweight jacket, navy blue, water-repellent and breathable, a - Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering, See Website Homepage for sample image), followed by first line title, second line full name both in Times New Roman, Size 20  Year Round Embroidered Jacket - 90/10 polyester/elastane lightweight jacket, navy blue, water-repellent and breathable - Embroidery on left chest, Township Seal, followed by first line title, second line full name both in cursive -	Type  Women's Adult (S,M,L,XL)  Men's Adult (S,M,L,XL)	Est. Qty.	Unit Price \$36.00	Extended Price \$180.00
	Year Round Embroidered Jacket - 88/12 polyester/elastane lightweight jacket, navy blue, water-repellent and breathable, a - Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering, See Website Homepage for sample image), followed by first line title, second line full name both in Times New Roman, Size 20  Year Round Embroidered Jacket - 90/10 polyester/elastane lightweight jacket, navy blue, water-repellent and breathable - Embroidery on left chest, Township	Type  Women's Adult (S,M,L,XL)  Men's Adult (S,M,L,XL)  XXL  Women's Adult	Est. Qty. 5	Unit Price \$36.00 \$36.00	\$180.00 \$180.00 \$36.00

	M.'. W'1' D.1 Cl'./ 11 (1.) 10.1'. 11 1000/	Women's			
	Moisture Wicking Polo Shirt (colder weather) golf shirt, navy blue, 100% polyester fabric, Dri-Fit® (or equivalent) - Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering, See Website	Adult (S,M,L,XL)	5	\$16.00	\$80.00
59	Homepage for sample image), followed by first line title, second line full name both in Times New Roman, Size 20	Men's Adult (S,M,L,XL)	5	\$16.00	\$80.00
		XXL	1	\$17.00	\$17.00
	M': W'! D1 01': (	Women's		Ψ17.00	<b>\$17.00</b>
	polyester, moisture wicking, - Embroidery on left chest, Township Seal 3" x3"	Adult (S,M,L,XL)	5	\$16.00	\$80.00
60	sample image), followed by first line title, second line full name both in Times  New Roman, Size 20	Men's Adult (S,M,L,XL)	5	\$16.00	\$80.00
		XXL	1	\$17.00	\$17.00
		Women's		4 2 / 1 2 2	427.100
	$1/4\ ZIP\ PULLOVER,\ 100\%$ syntrel polyester, navy blue, - Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering,	(S,M,L,XL)	5	\$19.00	\$95.00
61	See Website Homepage for sample image), followed by first line title, second line full name both in Times New Roman, Size 20	Men's Adult	5	\$19.00	\$95.00
		(S,M,L,XL)			
		XXL	1	\$20.00	\$20.00
	Long Sleeve Oxford Dress Shirt, navy blue, 60% cotton/40% polyester blend,	Women's			
	button-down collar, a center pleated back, a patch pocket, hemmed cuffs and	Adult	5	\$19.00	\$95.00
62	white buttons, wrinkle resistant - Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering, See Website Homepage	(S,M,L,XL)			
02	for sample image), followed by first line title, second line full name both in	Men's Adult	5	\$19.00	\$95.00
	Times New Roman, Size 20	(S,M,L,XL)		\$19.00	\$93.00
	Times Ivew Rollian, Size 20	XXL	1	\$20.00	\$20.00
	Short Sleeve Oxford Dress Shirt, navy blue, 60% cotton/40% polyester blend,	Women's		· ·	·
	button-down collar, a center pleated back, a patch pocket, hemmed cuffs and white buttons, wrinkle resistant - Embroidery on left chest, Township Seal 3"	Adult (S,M,L,XL)	5	\$19.00	\$95.00
63	x3" (Color Gold with Blue Behind Township Lettering, See Website Homepage	Men's			
	for sample image), followed by first line title, second line full name both in	Adult	5	\$19.00	\$95.00
	Times New Roman, Size 20	(S,M,L,XL)	1	£20.00	<b>\$20.00</b>
		XXL Women's	1	\$20.00	\$20.00
	Winter Jacket, Waterproof with Removable Inner Fleece, navy blue, outer jacket	Adult	5	\$80.00	\$400.00
	100% polyester, hard-shell, inner Jacket: 100% polyester tech fleece, -	(S,M,L,XL)		\$00.00	\$100.00
64	Embroidery on left chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering, See Website Homepage for sample image), followed by	Men's			
	first line title, second line full name both in Times New Roman, Size 20	Adult	5	\$80.00	\$400.00
	inst line title, second line full hame both in Times New Roman, 5126 20	(S,M,L,XL)			
		XXL	1	\$80.00	\$80.00
		Women's		\$40.00	\$200.00
	Rain Shell, breathable Rain Jacket - navy blue, waterproof - Embroidery on left	Adult (S,M,L,XL)	5	\$40.00	\$200.00
65	chest, Township Seal 3" x3" (Color Gold with Blue Behind Township Lettering,	Men's	<del>                                     </del>		
	See Website Homepage for sample image), followed by first line title, second	Adult	5	\$40.00	\$200.00
	line full name both in Times New Roman, Size 20	(S,M,L,XL)	[		
		XXL	1	\$41.00	\$41.00
		COU	NCIL SU	JBTOTAL	\$3,119.00
	CDANI	D TOTAL O	FALLS	ECTIONS	\$98,135.65 *
	GRANI	, IOIAL U	CALL S	ECTIONS	Ψ/0,133.03
	*Adjustments made for clerical errors				